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Q2.

Particulars s. (per bike)

Materials 12,000
Labour 5,000
Variable overheads 3,000
Fixed overheads 10,000
Profit 10.000
Selling price 40 000

The above data is based on the production levgkoj ‘X)QO f’oﬁ” kess W; v, A

The enterprise expects that they will have to. seduqe sclling gﬂgﬁjﬁ or détctq Stand-Up Ng S

competition. However, they want the tota} ! iﬁ\i'efr( _' fm?ag o .3”5;. A\_”XQ‘“ % > ﬁﬁ;{c 2

Calculate the no. of motor-bikes it woulé\hfgl%e‘t m%n" Dfacturé \l;igﬁfptg} )

if: >3 X ST
i.  The selling price is reduced by AD% RIS
ii.  The selling price is reduced\E &

Particulars
Materials
Labour

For ttié year folllex}kgj s o:Keep u{i’tlﬁ
pnce 1§&red®cd toR 3 e@r@o?n yérseas market demands 20,000
Céb} Rs:‘35 3 ,’thamifapngrga addltlonal 10,000 pens above the

x@iﬁ&d?’oﬁ‘ﬁrheads z\xﬁ» Ikrease by 10%.

""(" -

,,,,,

e ,
o gmage,teni RZS ]%00 S “pmrsfan maintenance is estimated at Rs. 18, 000 p a. while
reg@gemgnt of ﬁyres;@q@tubeg%iﬂ cost Rs. 2,500 p.m. Office expenses are estimated at Rs.
%‘Q@O&p@ whereasa small partofithe Office would be let out for the year fetching rent of Rs.
4096$E&6§@Q@ﬂ«g&' Qost;R,s 10 per kilometre.

7 versan 'tWiicg}Ldﬁctors are engaged at a monthly salary of Rs. 25,000 and Rs.

5(;_ : ﬁ‘woﬁ'n

];;e respe tive *Tn} hddxtlon to this, drivers and conductors are entitled to 5% of the

C { rq"(‘: Na' A

“The. ;cffeg”n %;f e “of the vehicle is spread over 80,000 kms., at the end of which the
av‘ \-qfo/ﬁc;:ap value. The bus is 50 seater and is expected to run 2 two-way trips

ﬁn‘g\the‘da&:for 25°days in a month, carrying its full load.

-_ou are)%qmréd to work out fare per passenger km. for earning 20% profit on net fare,
ter gst}b o ai@Rs 10,000 p.a. is also to be included as cost.
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Q3.  Following details are given for Product X: e
[ Standard (for 1 unit produced) Actual~(fqr 10. tmltsta

Material Qty. (kgs.) | Price (perkg) | Qty(kgs) <], Price(perke,)
A 50 12 608 S 3 DT E PR
B 50 20
C 100 25

Calculate all the Material variances

balances
(can / cannot / may);

3. Bad debts written off < effect-Cagt at);. ¢
4. ___ budgethas to be prephrﬁ&iﬁqugbﬁ T e @alggf(?ash),

5. is the cost centr
room-days)

kS :\f\w A :‘rf(pasgén‘gqr,kms @tonne-kms. /
"}

st l%st” [:iion-),
adustri@? ‘glf Ipsurance / Office Salary)

vjatchmg on an overall most

07)
B B
. L Sgweegs Sales budget #”
v & I'Standard Costing
Produttin tf*bfudget” &~ - Charges per bed-days -
f’.ﬁiasha;b\xd f ‘Standing costs -

” | Temporary bank / other finance -
{ Scarce in availability
Preceeds production budget -

Forecast of cash flows <
Depreciation to be taken into account

(;bg; Qemre# umbm Hotel Costing

m@%ﬂost
~betwe¢n Purchase, Production and Sales budget
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